ABSTRACT STATEMENT OF ELECTION EXPENSES

PART-I

Name of Candidate : T. PANDIYARAJAN

Number and name of Constituency : 170 Thiruvidaimaruthur Assembly Constituency (SC)

Name of State / Union Territoty : Tamilnadu

Nature of Election : General Election - 2011

Date of declaration of result : 13-5-2011

Name and Address of the Election Agent : PON.THA.MANOKARAN

Neivasal, Thirumeniar koil (Post)

Pandanallur (via).

Part-II

I Were you a candidate set up by a Political Party? : Yes

II If yes, name of the party : AIADMK

III Is the Party a recognised Political Party? : Yes

IV If recognized political party, whether National/State Party : National Party

V Has your party incurred/authorized expenses in your election? : Yes

VI any other association / body of persons / individual

incurred / authorised expenses in your election? : No

VII If yes, give its / his / their name(s) and complete address : -----

T. Pandiyavajon

ABSTRACT STATEMENT OF EXPENDITURE ON ELECTION BY THE CANDIDATE / HIS ELECTION AGENT

Part III

6.	نې	4.	့ပ	2.				
Visits of 'leaders' to the constituency (other than the expenditure on the travel of 'Leaders' as defined in Explanation 2 under Section 77(1) for propagating programme of the Party General Secretary Visit (i) Poorna Kumba Mariyathai (ii) Band Set	Frection of gates, arches, cutouts, banners, etc.	Vehicles used and POL expenditure on such vehicles	Compaign through electonic/print media (including cable network) (i) Flex Boards with frame charges	Compaign materials, like Handbills, Posters, (i) Paper Advertisement (ii) Wall Paintings (iii) Mic-Speakers,	Party Meeting-Thirumana Mandapam Rent Flags, Thoranangal. Processions-Two Wheeler Rally Flags Rs. 450/- Flowers Rs. 300/- Crackers Rs. 400/	Rs.	1	Item of Expenditure
		2,12,380.00	15,300.00 <	34,700.00 34,705.00 83,714.00 27,200.00	2,200.00 / 3,300.00 2,100.00 1,150.00	Rs.	2	Expenditu Candidate / his Election Agent
						Rs.	در	Expenditure incurred / authorised by Any of Any of Associate which set him of Associate when the Associate Associate the Associate Assoc
						Rs.	Δ	orised by Any other Association / Body of Persons/ Individual
						Rs.	Z)	Total Expenses incurred / Authorised (Total of Columns 2, 3 & 4)

T. pandiyarajan

ABSTRACT STATEMENT OF EXPENDITURE ON ELECTION BY THE CANDIDATE / HIS ELECTION AGENT Part III

۱ ٔ				9.	-8	7.			
	•	Total	(i) Pooja Expenses 101.00 (ii) Documentary Charges 500.00 (iii) To verify voter list 1,32,000.00 (iv) Booth Agents Salary 96,800.00 (v) To verify EVM Machine 600.00 (vi) EVM Machine Escorts 13,500.00 (vii) Candidate Deposit Amount 5,000.00	Other misc. Expenses	Expenses on Compaign workers	Visit of other party functionaries	Rs.		Item of Expenditure
		6,91,920.00		2,48,501.00	26,670.00		Rs.	2	Candidate / his Election Agent
		, co					Rs.	w	Expenditure incurred / authorised by date Political Party Any o s which set him Associ on up / Bodint Porsons/ It
							Rs.	4	Any other Association / Body of Persons/ Individual
							Rs.	5	Total Expenses incurred / Authorised (Total of Columns 2, 3 & 4)

Lump-sum grant received, if any, from -

	(၂)	2.	1.
	Any individual (with name and address)	Any other association / body (with its name and address)	Political Party
コのでは、このでは、			1.0

1. Poloonyola

DETAILS OF EXPENDITURE ON VEHICLES USED

Details of expenditure on all vehicles used in connection with the election including the vehicles supplied to candidate by his Political Party or any other association / organization / body or by any other individual are required to be shown. The only exception is the expense incurred in connection with travel of 'leaders' of political party for propagating programme of political party covered by Explanations 1 and 2 under Section 77(1)

		Ve- hiolo		NO.		Break-up of total expenditure of column 6					
Regn. No. of Vehicle	Type of Vehicle	hicle Permit No. issued by RO	Rate for hiring of vehicle / mainten- ance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	Total Amount	of days for which used	Total Amount incurred	Amount spent by the candidate /Election Agent	spent by	Amount spent by any other association/ body of persons/ individual
1	2	3	4	4a	4b	4c	5	6	7	8	9
TN49U9075	Mahendra		900.00	400.00	170.00	1,470.00	5	7,350.00			
TN09G1056	Antassador		900.00	400.00	170.00	1,470.00	3	4,410.00			
TN07H7777	Antbassador	13	900.00	400.00	170.00	1,470.00	16	23,520.00			
TN49AE0005	Tata Sumo	14	900.00	400.00	170.00	1,470.00	16	23,520.00			
TDG3868	Јеер	15	900.00.	400.00	170.00	1,470.00	14	20,580.00			
TN49AY6768	Ambassador	19	900.00	400.00	170.00	1,470.00	14	20,580.00			
TN09G1056	Tata Sumo	45	900.00	400.00	170.00	1,470.00	9	13,230.00			
TN10E6896	Ambassador	46	900.00	400.00	170.00	1,470.00	9	13,230.00			
TN48F3259	Tata Ace	67	1050.00	400.00	170.00	1,620.00	6	9,720.00			
TN68C0138	Mahendra	68	1050.00	400.00	170.00	1,620.00	6	9,720.00			
TN32S8934	Tata Ace	69	1050.00	400.00	170.00	1,620.00	6	9,720.00			
TN04D0745	Tata Sumo	71	900.00	400.00	170.00	1,470.00	8	11,760.00			
TN49N6300	Auto	20	300.00	400.00	170.00	870.00	14	12,180.00			
TN49U2374	Auto	21	300.00	400.00	170.00	870.00	14	12,180.00			
TN68B5927	Auto	47	300.00	400.00	170.00	870.00	9	7,830.00			

[P.T.O



_	Type of Vehicle			Ve-	Rate of hiring				No.		Break-ı	of total of colun	expenditure nn 6
Regn. No. of Vehicle		hicle Permit No. issued by RO	Rate for hiring of vehicle / mainten- ance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	Total Amount	of days for which used	Total Amount incurred	Amount spent by the candidate /Election Agent	spent by the	Amount spent by any other association/ body of persons/ individual		
1	2	3	4	4a	4b	4c	5	6	7	8	9		
TN49U5458	Auto	59	300.00	400.00	170.00	870.00	9	7,830.00					
TN49X8454	Auto	70	300.00	400.00	170.00	870.00	6	5,020.00					

Note:

Grand total of Column 6: Rs.

2,12,380.00

Copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed. 1.

All vehicles used for Public Meetings / Rallies / Processions shall also be included in the above table. 2.

3. If the vehicles owned by the candidate / his relative / agent are used for election purpose, national cost of hire of all such vehicles except one used by the candidate for his personal use, shall be included in total amount of expenditure in the above table.

T. Pandiyayajan

Part-V

DETAILS OF EXPENDITURE ON PUBLIC MEEETINGS / RALLIES

(Each Public meeting / Rally / Procession held by the candidate / his election agent / his political party / any other association / organization / any other inividual on behalf of the candidate should be mentioned in this format)

Total Number of public meetings/rallies/processions-
--

Total expenditure

1	2	3	4		5	6	7		
Date of Public meeting/ Rally	Address of Venue	Name of Authority from whom permission obtained	Expenditure on Po Ralics / Pro		Amount incurred by candidates/ Election Agent	Amount incurred by Political Party and name of	Amount incurred by any other Association/ body / Individual and names of such		
	Name of the Star Compaign er/Outside Dignitary (if any)	Reference No. and Date of permission	Description	Qty.	Rate per unit	Total Amount		the Party	persons
			Erecting Pandal & Fixtures						
			Arches & Barricading						
			Hiring furniture						
			Hiring Louspeakers & Microphones						
			Posters						
			Banners						
			Cut-outs						_
	-		Digital Board						
			Illumination items like Serial Lights, etc.						
			Power connection charges paid/payable to EB etc.						
			Rent for venue					_	
			Other Miscellaneous Expenses						
	Y		Total						

Dated:

1. Pandiyayajan
Signature of the candidate

Part-VI DETAILS OF EXPENDITURE ON TRAVEL OF LEADER(S) OF THE PARTY NOMINATED IN TERMS OF 'EXPLANATION (2)' UNDER SECTION 77(1) OF THE REPRESENTATION OF THE PEOPLE ACT, 1951

			ARRIVAL DETAILS			TAILS STAY	DEPARTURE DETAILS				
SI. No.	Name of the Leader	Date of Arrival in Constituency	Mode of Travel	Expendiure on Fare paid (if known)	Duration of Halt in Constituency	Expenditure on Local Journeys	Date of Departure from Constituency	Mode of Travel	Expenditure on Fare Paid (if known)	Whether Expenditure on item (5), (7) and (10) incurred by candidate, Political Party or others - specify	Expenditure if any on Item (5), (7) and (10) by Candidate
1	2	3	4	5	6	7	8	9	10	11	12

<u> </u>	pandiyayajan	
Sion	ature of Contesting Candidat	te

Place :

Date : Name of Contesting Candidate